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Mr. Schlansky

Algebra II

Modeling Exponential Functions Practice
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(_1 Jackie deposits $26, 630 into a savings ‘account with interest compounded mg)ntﬁlz at alrate of
4.6% cach year. Write an equation for A(#), the value of her account after ¢ years. Use your

uatlon to determine how much monegl will be in her account after 4 years?
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2. The population of Schlansky, Arizona 1ncre+éses by lg‘ﬁ every 3.2 years. If the population is
currently 2750, write an equation for p(¢), the populatlon affer ¢ years. Using your equation,

what will be the population, to the nearesz‘ person, 1 g_maﬁ_ﬁom now?
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3. A bank account is opened with $2700 and interest is compounded continuously at a rate of
(3 76% per year. Write an equation for b(t), the balance of the account after ¢ years. Using your

e<\11at10n what w111 be the balance of the account after &;&ears"
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4. A certain car depreciates at a rate o‘?l 4% each year. If the car was initially worth $22.500, write

an equation for v(¢), the value of the account after ¢ years. Using your equation, what is the value
of the car rounded to the nearest cent, 12 yegs later?

de v f ) | AR =Dstn )"
o e 8
L+

@ =22, 50(- 549)

hal& (:QQ

5. The halflife of an element is 73 minutes. If there were initially 7.4 kg of the substance, write
an equation for a(z), the amount of the substance remaining after # minutes. Using your

equation, to the nearest hundredth of a lg how much will remain after 110 minutes?
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6. Skylar bought an antique mirror for $;§901Qf the value of her mirror increases 6% annually, write an
equation for v(¢), the value § her mirror after ¢ years. Using your equation, determine the value of

Skylzir s mirror at the end of 4 years to the nearest dollar? N e L dﬂ)q
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7. A bank account is opened with $1500 and interest is compounded qﬂ_l@_nﬁdy_a‘z an interest rate
of 3.1%. Write an equation for 5(¢), the balance of the account after ¢ years. Using your

egzjil\on how muc}ij’njney‘V:ilCliifl}n} the account after 7ﬂ_ze ars? L‘@j
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8. The amount of insects in a colony doubles every 6 days. If there are initially 50 insects, write

an equation for P(¢), the amount of ifisectsin the colony after ¢ days) Using your equation, how

colony after 11 days? 1 i
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Write an equation for A(¢), the amount of money in the account after ¢ years. Using your

}L eqxuation, how much money will be in the account after 5 years?
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9. A bank account is opened with $92€0 and is compounded at a rate 0of 4.7% ¢
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10. The half-life of an element Schlanskium is 4.1 days. If there is a 9600 gram sample, write an
equation for p(f¢), the amount of Schlanskium remaining after ¢ days. To the nearest hundredth

of a gram, how much Schlanskium will remain after 7 days? . N\ L
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, .11. Emma opens a bank account with an initial balance of $90,210. If interest is compounded
ﬁgdf;\,\ﬂ (- quarterly at 4.25% each year, write an equation for b(¢), the balance of the account after ¢ yearsj
) em—

Using your equafi:)n, how much money will be in the account after 14 years?
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12. Sophia is beginniri%to lift weights to gg_t

buff for the summer. She starts by working out 30
(’_ minutes and every five days, she will increase the time of her workouts by 25%. Write an equation to

it d(¢), the duration of her workout after ¢ days‘ Using your equation, how many minutes
will Sophia be working out after 30 days rounded to the nearest tenth of a minute? %”
d=diy | °)

..,L_.p(]i(\ Z;&;
$=20 plis)
= e Al =2el=

.t; 2




